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GIVEN SOLUTION LEGEND
TS SinA - Rg VersA
8, 83, Ts, Rg RL = s sin S * Rg P.C. - Point of Curvature
Vers A
A As T R Re = T Sinh - R Vers 4 F R P.C.C. - Point of Compound Curvature
’ ' E VersAg
R, Vers A - Sind P. T. - Point of Tangenc
8,45, R Rs - = gency
(RL- Rg) Versig
= T SinA - R VersA| RL - Radius of Major Curve
b, A5, Ts R Rg =
Vers & - Vers 4|
A Rg - Radius of Minor Curve
Rg Vers - Ts SinA
A Ag T R R - S S
Les LTS L VersAg - Versé
iR - Leong Tangent
T inA - tan Vo & (TL+TS cos A
4,85 T, Tg Rs S Sin Vo 8L ( L ?3 )
Vers & - Sin & tan /7 8 Ts - Short Tangent
T i - R
8,7, Ts, Rg Tan Ve AL - 7 S TSm a S Vers. A A Tatal deflection Angle of the
L* Tscosd - RgSind Compound Curve - 4 + Ag
ATL, Ts, RL Tan Yy Ag - R Vversd - TL SinA A, . Deflection Angle of
R Sind - T cosA-Tg Major Curve
R - Tg Sin A -Rg cos A _ Deflection Angle of
8, Tg R Rg Cos A = R - Rs bs Minor Curve
A, TL, RL.Rg Vers b5 - RL Vers A - TL Sind Vers = 1- cos
RL - RS
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